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> (cdr '(( 3 5) 2 (4 6)))

(2 (4 6))

> (* (/ 21 3) (- 7 2))

35

> (/ 15 2)

15/2

> (- (truncate (/ 17 2)) 5)

3

> (setq a '(5 6 7 8))

(5 6 7 8)

> (setq b (car a))

5

> (cons b (reverse (cdr a)))

(5 8 7 6)

> (or '(t nil))

(T NIL)

> (atom '(1 2 3))

NIL

> (min 2 23 -12 76 32 142)

-12

> (equal 7 (- 8 1))

T

> (length '(apple berry cherry dragonFruit))

4

> (subst 'easy 'hard '(Prolog is hard and Lisp is easy))

(PROLOG IS EASY AND LISP IS EASY)

> (mapcar 'oddp '(51 23 12))

(T T NIL)

> (apply '+ '(15 2 30))

47

> (reverse '(berry cherry apple orange))

(ORANGE APPLE CHERRY BERRY)

> (defun  mystery (a b)

(cond

 ((> a b ) a)

((> b a ) b)

(t (* (+ b a) (- a a)))

)

)

MYSTERY

> (mystery 5 5)

0

>>
